
Manual

Parts List

Frame 1 pc1

2

3

5

6

Legs

Keypad

Feet

2 pcs

1 pc

2 pc

Screws 16 pc

Brackets 2 pcs

4

1 2 3

DISCLAIMER:
Buyer accepts full liability for any injury or loss to themselves, their property, and anyone 
else anytime and from any cause while using this product. Buyer expressly releases 
Uncaged Ergonomics and its agents from any liability for such loss or injury. In no event 
shall Uncaged Ergonomics or its agents be liable for any direct, indirect, punitive, 
incidental, damages or injury whatsoever arising out of or connected with the use or 
misuse of its products.

4 5 6



Assembly
STEP 1: Adjust The Frame Width 
- Adjust the frame to your desired width and install 8pcs of the M6x10
   screws to secure it in place.

- Ensure the large circular holes on the side of the frame are uncovered.

- You can easily adjust the frame width later. 

STEP 2: Connect the Columns to the Frame
- Screw the columns to the frame with 8 pcs of M6x10 screws. 
- Ensure the side holes are uncovered so you can insert the screws through
   the frame into the column. 

STEP3: Connect the Feet to the Columns 
- Connect each foot to a column with 4pcs of the long M6x35 screws.
- The black, circular feet can be unscrewed later to level your desk. 

How to Reset Your Desk: 

NEED HELP?
E: hello@UncagedErgonomics.com  |  P: 240-583-0517 W: UncagedErgonomics.com

1. Press the down arrow to lower the desk. release the down arrow 
2. Press and hold the down arrow until the screen shows ASR. release the down arrow 
3. Press and hold the down arrow until the screen shows the numerical height. The desk should lower all the way and then raise slightly. 
     release the down arrow

STEP4: Install The Brackets 
- Slide the side brackets on each end of the frame and secure them with
   2pcs M6x14 screws. 

How To Use The Memory Settings: 
- Adjust the desk to your desired height. 

- Press and hold “M” until the screen shows S1 

- Press the number you’d like to save the height. 


